FED. ROAD STATE FED. AID FISCAL | SHEET TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS

GENERAL NOTES

HAWAII waw. | NH-019-1(39) | 2011 |ADD.3| 31

T'his project includes removing existing guardrail and post, installing 14, Initial preparation of shoulder areas shall be done by the

new guardrail and post; installing pavement and reflective markers; Contractor. Shoulder preparation shall consist of clearing, grubbing,

/nsfa/{/ng milled rqmb/e strips: providing traffic control: proving water grading, reshaping and compacting the unpaved shoulders with | FGEND
pollution and erosion confrol. suitable excavated material from roadway reconstruction as shown

on the plans and/or as directed by the Engineer. Contractor shall

also be responsible for finish rolling and maintaining the shoulders
until project completion. This work shall be considered incidental fo O/:aa Existing Joint Pole
HMA Pavement, Mix No. 1V.

Resurfacing Limits

I'he Contractor is reminded of the requirements of Subsection 105.16 - |
Subcontracts, which requires him fo perform work amounting fo not
less than 30 percent of the fofal confract cost less deductible

items.  Non-compliance with this Subsection may be grounds for “pp  LXisling Power Pole
rejection of bid. 15.  Unprotected pavement dropoffs greater than 2” shall not be allowed °ap  Existing Anchor Pole
| | . during non-working hours, except where approved by the Engineer o ,

I'he Confractor's attention is directed fo the following Sections of the in writing. °emn  EXisting Electric Manhole

Special Provisions: Subsection 107.06 - Contractor Duty Regarding Public 5 Existing Telephone Pole

Convenience Subsection 104.11(A) - Contractor’s Duty to Coordinate Ufility 16. Public Notice is required for lane closures. Contractor shall p g P

Services, and Section 645 - Traffic Control. submit notice to the Engineer for approval a minimum of three o mn  Existing Telephone Manhole
weeks prior fo publication. Pre-approval of notice, with dafes left oymh  Existing Water Manhole

I'he Contractor shall notify the Stafe in writing, two (2) weeks prior fo blank, is permissible.
starting paving operations. °wyn Adjusted Water MH Frame/Cover

At The end of each day's work, the Confractor shall remove all
equipment and other obstructions fo permit free and safe passage of
public fraffic.

T'he existence and location of underground uftilities, manholes, monuments
and structures as shown on the plans are from the lafest available data
but the accuracy is not guaranteed. The encountering of other obstacles

7. Contractor shall maintain at least one paved shoulder free and

clear of debris for pedestrian and bicycle fraffic at all fimes.

'he Contractor shall provide and maintain a femporary pedestrian-safe
and easily accessible route or detour with barricades in or near the
work zone. This temporary route or defour shall be stable, firm and
slip-resistant and shall be American With Disabilities Act compliant.
T'his work shall be incidental fo all confract ifems and will not be

Existing Water Valve Box
Adjusted Water Valve Box
Existing Water Meter
Adjusted Water Mefer

o Existing Fire Hydrant

during the course of the work is possible. The Contractor shall be held paid for separafely. Sy Adjusted Fire Hydrant

liable Tor any damages incurred 1o the existing facilities and/or 19.  All sign post shall be completely painted with yellow reflective paint. o

Improvements as a result of his operations. such paint shall be considered incidental to sign items. on.  EXISTing Monument

DATE

PLOTTED BY

BY X
BY

10,

/1.

/2.

/3,

The exact locations and limits or areas to be reconstructed and cold
planed shall be determined in the field by the Engineer.

Preformed Pavement Marking Tape shall be removed prior fo resurfacing.
Removal shall be by scraping, grinding or other method approved by the
Engineer. Payment shall be incidental fo HMA Pavement, Mix No. 1V.

I'he Confractor shall remove and dispose of all existing raised pavement
markers prior to the overlaying of Asphalt Concrete. This work shall be
considered incidental tfo HMA Pavement, Mix No. 1V.

Smooth riding connections shall be constructed at all limits of resurfacing
including the beginning and end of project, side streefs and driveways
as shown on the plans and/or as directed by the Engineer.

Existing drainage system will be functional at all times during construction
Confractor is to furnish materials, equipment, labor, fools and incidentals
necessary to maintain flow. This work shall be considered incidental fo
the various contract items.

Contractor shall provide for access fo and from existing side streefs
and driveways at all fimes.

All saw cutting work shall be considered incidental to HMA Pavement, Mix
No. IV and will not be paid for separafely.

~ Adjusted Monument

Existing Grated Drop Inlef
Existing Traffic Sign With I Post
New Traffic Sign With I Post
Existing Traffic Sign With 2 Posts
New Traffic Sign With 2 Posts
Existing Highway Lighting Standard
Existing Street Lamp Pullbox
Existing Single Metal Guardrail
New Single Metal Guardrail
Existing Fence

Not In Contract

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

QUANTITIES BY

TRACED
NOTE BOOK | hpgiGNED BY X

Skpragnl.dgn

DRAWN

ORIGINAL SURVEY
PLAN

No. Nel-jkeawel curckED BY

GENERAL NOTES AND LEGEND
HAWAII BELT ROAD GUARDRAIL
¢ SHOULDER IMPROVEMENTS
Papalele Road to Kaumoali Bridge

Federal Aid Project No. NH-019-1(39)
DATE REVISION Date: Dec., 2011

SHEET No. /[ SHEETS

ADD.3

175712 | Corrected Note #. /I




' | FED.AD | _op '
FED. ROAD FISCAL | SHEET | TOTg
. - : . NO.
NOTE: DIST. NO. STATE PROJ. N YEAR NO. SHEETS

BEAM GUARDRAIL BEAM GUARDRAIL BEAM GUARDRAIL

BEAM GUARDRAIL

INSTALL RAIL PARALLEL TO ROADWAY EDGE LINE. Q
WHEN TAPER IS REQUIRED BY DESIGN ENGINEER, T ASSEMBLY CABLE PC 30006 nawan | waw. | NH-019-1(39) | 2011 |ADDA7| 31
A 504 TAPER OVER THE LENGTH OF SYSTEM IS Sl= PC 338756 STRUT 3" x 3" -
ALLOWABLE. S PC 782G BEARING PLATE
, , , PC 704A CABLE ANCHOR ,
! | ! GUARDRAIL EXIT.SLOT AWAY
| | TRAFFIC
™1 | | [ | ! o
ol | i | | . R
S S | ] | [T | [ L
\ | \ ! \ 1 \ } \
| PC 9G DEEP | | PC 9G DEEP E PC 96 DEEP i PC 296 DEEP
! | ! | |
| | | | |
i i i

_@_____.________-__
>
_@_

SYSTEM LENGTH = 50~0 12 GA x 126" LG 12 GA x 12-6" LG 12 GA x 126" LG 12 CA x 126" |G 21 1/2"
TRAFFIC
STANDARD LINE @r? | @ @ | | | @ @ —
FROM POST # 9 'LA 6/__ 3// ! 6/_ 3// ! 6/_ 3// ! 6/_ 3// ! 6/_ 3// ! 61_ 3/[ ! 6/__ 3” ! 6 !
%" dia. x 1" LG HGR.,| | | %" dia. x 4G HGR. |, | %" dia. x 114" LG HGR. .\ | ~po NOT ATTACH RAIL TO| %" dia x 1lf" L6 HGR. | 9% dia T HEX HD BoLT~— [ J1®°°|
SPLICE BOLTS ¢ NUTS || | | "SPLICE BOLTS #WUTS 111 | SPLICE BOLTS # NUTS 111/ POST BLOCKS @ RAIL | SPLICE BOLTS # NUTS 111 \W/ WASHER, LOCKWASHER !
N | N | 11/ SPLICES L | in \$HEX NUT |
[ ] N Yy 4 - N — g | h
L a= \i =t VAl * an ﬂ =+ === =g |
o bl | o I R Y HIK i',.
i@__l:__:z: 1§ ; :\ 1 A 1 it | A I &
1
o L]

L TO POST #2
2

2-3 3/4"
=
i
N
1T
I
™\
1=

D0 NaT ATTACH =" ?
=

1=

% Y24 \

SEE DETAIL "K”

RIS %o

.

BILL OF MATERIAL
AFTER FINAL ASSEMBLY,

RECHECK CABLE TO BE

PC | QTY DESCRIPTION
\ SURE IT IS TAUT AND

HAS NOT RELAXED. 9G 12 GA./12'6"/6'3"/S (GUARDRAIL)

b e e e
- -
e - ————
b e e o e
[ - - N
| PO SRS S W

-

-

, I
NOTES: 326 12 GA./12%6"/6'3"/S ANC (GUARDRAIL)

1) DO NOT ATTACH GUARDRAIL TO POST # 1. 704A CABLE ANCHOR BRACKET

2.) DO NOT ATTACH GUARDRAIL TO POST BLOCKS AT

(UPPER)

|
|
|
|
|
|
|
|
|
|
|
!
{
|
|
!
i
|
|
J

GUARDRAIL LAP SPLICES. (AT POSTS #3, 5 ¢ 7) 995A ET-2000 PLUS EXTRUDER

3.) THE %" FLAT WASHER IS USED UNDER THE NUT, |-> B L J 30006 CABLE 34" x 66"

3
/
/
782G | 1 |5/8" x 8" x 8" BEARING PLATE
/
/
6

BEHIND THE POST ONLY. NO WASHER IS USED 33006 5/8" WASHER

AT THE RAIL
3340G | 38 |5/8" HEX NUT

4.) MANUFACTURER SUGGESTS CUSTOMER TO PROVIDE

3360G | 32 |5/8" dia. x11/4" SPLICE BOLT

REFLECTORIZATION OF TERMINAL
3500G | 6 |5/8" dia. x 10" POST BOLT

‘ M}’/‘ 1% SI5L2A POST (UPPER) 1oy dia._x 2/ HEX HD BOLT 37016_| 19 | 3/4" WASHER
] X 0. _ A -
TRAFFIC SIDE W/ WASHER, LOCKWASHER ! % dia. x 2" NEX HD BOLT s FC 33671A POST (UPPER) 37176 | 15 | 3/4" dia._x 2 1/2" HEX HD BOLT
n

W6 x 85

B\ UNDERATEX NUT ! INSTALL W/ HEADQN STRUT 37186 | 1 |3/4" dia. x 3" HEX HD BOLT

" SIDE W/ WASHER #YQCKWASHER "

39006 | 2 |I" WASHER

SEE NOTE BELOW

Siu i N R /HEX o : K 3906 | 2 |1 HEX T
%" dia. x 10" LG HG.R. BOLT 5 Ve WA ! PC3000G CABLE
Wy HEX T/Vé/@)% WASHER r N & ;/ i L ﬁgfxg%gwmgﬁ 53068 | ¢ | RECICLED PLASTIC BLOCKOUT OR
| — S e b OFFSET BLOCK
\\f‘
" & 7 ovron posT WL% \/ """""" i EQ FACTEND 42546 | 18 | 3/8" WASHER
. i ]
/ P 336028 LOST (UPPER) pe o FosT E: PC 336756 STRUT \__-_-;___l 42556 | 2 | 3/8" FENDER WASHERS
N " %" dia. x 2" HEX HD BOLT | 4258G | 16 | 3/8" LOCKWASHER
RECYCLED PLASTIC . - ?
| OFFSET BLOCK _ i SEE DETAIL "H" - I 46996 | 16 | 3/4" LOCKWASHER
i f L d l VIEW “H-H" " 1< I3B1A FOST (LOWER) 63216 | 16 |3/8" dia. x 2" HEX HD BOLT
a0 &W\\\\L A1l D —_ DETAIL K" e 64056 | 18_| 3/8" HEX NUT
: { \ - ST 3387IA | 1 | ET2000 HBA POST # TOP
A Bl 33872A| 7 | ET2000 HBA POST #2-#8 TOP
- \ Pe 338724 POST (LOWE T ) TRAFFIC SIDE PC 7826 BEARING PLATE 8" x %" x 8" 33673A| 2 | ET2000 HBA POST #-#2 BOTTOM
W6 x 85 - 33874A| 6 | ET2000 HBA POST #3-#8 BOTTOM
_ __—— TRAFFIC .. TRAFFIC SIDE BN i 338756 | 1 | 6-6" ANGLE STRUT ET HBA
: ; N | g
3 ‘ ""j\'ﬂ/ = : L:-1: STATE OF HAWAII
NEECRIRS == v L= I A EPARTMENT OF TRANSPORTATION
Y- ok | I évt—O(,‘;ngN A 1S SIMILAR @ POST 1 :% —'ﬂ; E,)I HIGHWAYS DIVISION
1= "AA @ R ) 2\ -
sg8258| ol EXCEPT RAIL IS NOT ATTACHED - N i J -2000 PLUS
L gy \W?Q__q 4 1 HAWAILI BELTNROAD GUARDRAIL
3 M = NrFO MWW "A-A S b= , »
e SECTION "A-A Y dia. 3 2" HEX i o STACK 2-3 WASHERS O - ¢ SHOULDER IMPROVEMENTS
212200 9 (TYP_&"POSTS 4, 6 ¢ 8) i G X e chen L Jo dia x 2t HEX 3" dia. BOLT BETWEEN —
=5 HEX NUT ] HEX NUT OVER 0. BOLT HEAD Federal Aid Project No. NH-D19:1(39)
SECTION “B-B" DETAIL "H” g dia ) 1/12/12 | Delefes Sheet -
V]EW //D“D// (POST #2) Dafe.’ DBC.,\?QK
1 (POST #2) | DATE REVISION SHEET No. SHEETS

I ofF |
ADD.17




	NH-019-1(39)_003 ADD.TIF
	NH-019-1(39)_017 ADD.TIF

